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'3 mwn: impact of 1"
a If:1" fell on grapes — wash them and they are 1min
i But if: they were cracked open — mmor (3" gets into them via cracks)
If: it fell on figs or dates — if there is v"1 of the 1" — TOR
¢ Story: par 12 vinra brought dried figs ona boat, 1 fell on them and onan declared them min
i Question: is this story brought to challenge ruling?
ii ~ Answer: mwn is missing key line - if the flavoring of the wine fouls the taste — 91mn (story supports it)
d  Rule: if there is nXin from the flavoring — 1oR
i But if: there is no nRin from the flavoring — like vinegar that fell on beans — amn
Backdoor:
a  Story: 11 permitted wheat that had had 1 fall on it to be sold (nRina amn ,n»Nwa MOR) to D" IY
i Challenge: rule that a garment with 1w may not be sold to » (nor for saddle-blanket; but may be used for nn)
1 Assumption: he may then sell it to SR
ii  Retraction: X211 then permitted wheat only after grinding it and baking it w/o awareness of any other H%w>
1 Explanation: no YX1v’ would buy it from him (1052 na)
iii =~ Challenge: our nwn only forbids if grapes are cracked open
1 Answer: sinc e wheat has cracks, it is akin to open grapes

III  Disputes ®327/7ax about 1"

a  Taste vs. name:
i If: old wine fell onto grapes — all agree that the measure for %1071 is v"1 (as there are 2 distinct tastes)
ii ~ But if: new wine fell onto grapes —
1 »ax 7ww for Y1071 is 1NV (i.e. no »v1) —determining factor for identity is taste; it is same taste —1nwNa 101 Pn
2 K277V is V1 — determining factor of identity is nomenclature; 1 is “wine”, other “grapes” —v"12 11 1RV PN
(a) Challenge (to »an): our mwn rules that wine on grapes is V"1 — we assume new wine
(i) Defense: mwn maybe case of old wine
iii ~ Application of dispute: wine vinegar mixed with mead vinegar (one of M10’R) or wheat wine and barley wine
1 »an taste determines identity > each pair is considerd n”rwan, therefore judged as v"
2 »27 name determines identity = each pair is considered n"an, therefore no %1071 (ynwn)
iv  Arguments forpositions:
1 »anx xna - if several spices (of nnIn) fall into pot, they can combine MORY — (ptn — all sweeterers > 1 taste)
(a) Proof: since taste detrermines, they can be q7vxn
2 Aa7 this follows n” who, per N ', says that all 170’8 combine, per v. 1
b Taste vs smell:
i If: vinegar (mo>R Yv) fell into wine, all agree that 1w is 0”1 (N"RVIN)
ii  Bu tif: wine (mo>R Hv) fell into vinegar:
1 »anxnwn (no "voa)entire smell is vinegar, taste is wine = follow smell and its n”an 2 1nwn
2 N27 0"); entire smell is vinegar, but taste is wine - follow taste and its n"rwan - v
¢ N na(the “smell” tap which they open to give off the smell of the barrel) of 2
i »an: prohibited - smell is a significant consideration
ii ~ N27 permitted — smell is not a consideration
1 Argument: if "mIn cumin was used to fire up oven and he baked bread — a1mn; as it’s only cumin smell
(a) 7an that’s because the original 170’8 is no longer extant
2 »p 1. this dispute follows DRin 'nn in re: taking hot bread from oven and placing it on barrel of nn1In Yw 1
(a) »77:MOR; 77777 77— AMR; 2D ‘7 permits in case of wheat bread; not barley, as barley draws up fumes
(i) Assumption: dispute is whether smell is a consideration
(if) ~37 will have to admit that there are n'®in who rule against him
(iii) »an: could explain — dispute is only with hot bread and closed barrel;
1. But if: barrel was open & bread hot — 3% it is 77oR (and the smell-tap is akin to nmna n'am nnn na)
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